REVISION TEST BASED ON FOCUS AREA. PHYSICS: UNIT.1

Find out the wrong pair from the following. 1
i.safety fuse — heating effect ii.battery — mechanical effect

iii. LED — lighting effect iv. electric motor — magnetic effect
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Which of the following is not a mathematical expression for Joule’s Law. 1
iLH=IR* ii. H=VIt iii. H=V*/R
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iLH=IR* ii. H=VIt iii. H=V*/R

Name the substance used to make heating coil. 1

Which of the following is/are not the characteristics of fuse wire? 1
i. high resistance ii. low melting point iii. high melting point.
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Give the two circumstances that causes excess current in an electric circuit. 1
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2A current is flowing through an electric circuit. Calculate the amount of charge flows through the 1
circuit in 10 second.
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Two lamps are connected in the circuit as shown. 40W 250V 100W 250V 2

a. Calculate the resistance of 100W lamp.
b. Which of the following statement is correct in respect of the @ @

given circuit.

i. 40W lamp gets more current.

ii. 100W lamp gets more current.

ii. Both lamps get the same amount of current.

c. Find out the lamp which glows with more brightness.
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It is noted that the switch ‘S’ in the circuit is in off position. 2

a.What will happen to the brightness of the lamp if the switch is
turned on? b. Justify your answer.
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Two resistance wires are connected as shown in the circuit. . - 2V5
a. Identify the mode of connection of resistors. AWV AW

b. Calculate the current in the circuit.

c. If it is operated for one minute, how much heat will be generated in 3Q |
resistor. L
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See the circuit given below. 50 2Ys
a. Find the effective resistance of the circuit. MWW

b. Of the two resistors, which carries more current?

c. Calculate power of 20Q resistor? 200
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REVISION TEST BASED ON FOCUS AREA. PHYSICS: UNIT.1
(KEY)

Find out the wrong pair from the following. 1
i.safety fuse — heating effect ii.battery — mechanical effect

iii. LED — lighting effect iv. electric motor — magnetic effect

Ans.ii.battery — mechanical effect
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Which of the following is not a mathematical expression for Joule’s Law. 1
iH=IR* ii. H=VIt iii. H=V%*R
Ans.i.H = IR*
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iH=IR* ii. H=VIt iii. H=V*/R
oomeo. i.H = IRt

Name the substance used to make heating coil. ~ Ans. nichrome 1
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Which of the following is/are not the characteristics of fuse wire? 1
i. high resistance ii. low melting point iii. high melting point.

Ans.i. high resistance iii. high melting point.
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Give the two circumstances that causes excess current in an electric circuit. 1
Ans. Over loading, short circuit, lightning,
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2A current is flowing through an electric circuit. Calculate the amount of charge flows through the 1
circuit in 10 second.

Ans.[=Q/t Or Charge Q= Ixt=2x10=20C
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Two lamps are connected in the circuit as shown.

a. Calculate the resistance of 100W lamp. ROME S Hon 250V
b. Which of the following statement is correct in respect of the @ @
given circuit. =]

i. 40W lamp gets more current.

ii. 100W lamp gets more current.

ii. Both lamps get the same amount of current.

c. Find out the lamp which glows with more brightness.
Ans.a. R = V¥/P = 250x250/100 = 625 Q =| I
b. ii. Both lamps get the same amount of current. 250V
c. 40 W lamp.
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2@em0eo.a. R = V¥/P = 250x250/100 = 625 Q
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c. 40 W enomi’

It is noted that the switch ‘S’ in the circuit is in off position.
a.What will happen to the brightness of the lamp if the switch is
turned on? b. Justify your answer.

Ans.a. Brightness will be increased.

b. When the switch is on, the two resistors becomes parallel and

hence effective resistance dcreases.
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Two resistance wires are connected as shown in the circuit.
a. Identify the mode of connection of resistors.
b. Calculate the current in the circuit.

c. If it is operated for one minute, how much heat will be generated in 3Q

resistor.
Ans.a. sereis. b. Current I = V/Reys = 9/9 = 1A
c. Heat H = I’Rt = 1*x3x1x60 = 180 J
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b. %008 I = V/Rer = 9/9 = 1A C. ®dato H =T°Rt = 1’x3x1x60 = 180 J

See the circuit given below.
a. Find the effective resistance of the circuit.
b. Of the two resistors, which carries more current?
c. Calculate power of 20Q2 resistor?
Ans.a. Effective resistance, R = RixRy/(R1+R2)
= 5x20/(5+20) = 100/25 =4 Q
b. 5Q
c. P=V¥R =10%20 =100/20 = 5W
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9OMO0.a. ManelaJ®leodwo R = RixRy/(Ri+R,) = 5x20/(5+20) = 100/25 =4 Q

b. 5Q
c. P=V*R =10%20 = 100/20 = 5W
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